normalized X2

[ normalized x? probability |

0.

chi2 chi2_prob
T T T Entries’ 482685 0.045 = Entries 482685
1071 EEERETEEET !‘(;ag 0.9942 : Mean 0.5931
. . ev. 0.9503 0 04 . Std Dev. 0.3153
. - .ch\Z - - cv:zipvo.
] 1 Entries 482689 0 035 ntries 482689
10 Mean 0.9942 B Mean 0.5931
Std Dev 0.950: 0.03fF----- - 1 1SdDev O%_l';
1073k 0.025
[ 0.02
1074F
0.015
w0} 000t rrbemrir et b
E 0.005
91[);6......... S
T : T
@ . @
0999510203 040506070809 1

2 4 6 8§ 10 12 14 16 18 20
X? Prob(x?)

.
A n
5 E
(SR o AL SRR R
~ o
< B[
v E
1.4----rmmnn- LR R g
1.2 | m==—=DQM_V0001_R000000001_Global_CMSSW_X_Y_Z__alNODNN
1=+ | === DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_all

Ratio

-3 -2 -1 0 1 2 3

< x2/ ndf >
< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio
Ratio

101 1 1 102 0* 107 1072 1071
0 0 H‘T 0 AR(track, ]ets)



	Contents
	Page 1


